1.

gl soalall J¥I (sl jll Juaill b gpd daala
Al 0 A3 il - (A et ARty aalaal] el Al ARG
2015/16 (el plall
e L 2 a3 u il 3ok g aliall aud
dajd A 3 Al

.......................... sossladl a8 ey e ki s adugasssansausar, SN i)

O o Guslall 485 ) AU (o gy rdags Aligale) : iplhae g LeS o lee ol
oy Lt o3 Al A8 5y 4 Yl Ayl o WS Al Y cudy ALY &)y e
plAN Jlaxinil Judady Adgill 8 Aialll Jaadlal Lew Gl oo a3 ¢ Ak 73 g B i il

(1 ALics¥) 48 g0 Lisll] (s r g 3 £ giaa VAglAd) B JBY)  Jo— Jutldl) b (el

40) b all LY 73 g 6 "F" (A Ll "T" prasna A5V il L) sl 0 $¥ 91F
(A0

A2l A jaalt LeansSs A il glaall g BilEs) g o jlaall A gane g8 "Uaa" mgiall | ]
gl Ji ol Y Fidae alaall g (e Jltad 4l sl pgiall Gigae e 2

Alpaall Ay g Ui el il alell el ol Y Aladiall dpaalSYI ol gall zgie 3

Jl leddday of g 2Bl 4o DU 4 g il ) pal) A jaall fagS cZuasl) meiall (S 4
s

ALY U pall 34030 ae adeill 85 pllaadl yie @l puadl aladiud Ll Juady |5
Al 8 bas g lgale alae Y WiCa Y 4l W) 6 _uilaal) <l il (g seadll 41aa¥l a2 5 .6
Zeeiall oLl B peall el ol 30 e (e dag grgialls 4BDe B saill 7

B_dlaall B yaally aladll e pegiall Lo o gdy 38 Al A0 diudili Al 8
sl 281 gl 5 allall GLEIS) 6] 55 Linas oy ol o dpndl gl Aalall Aail aaia3 9
=—.-'.-n-u1.1.41'[_5_.’.&.4“Jbi:b&ﬁ.mh.LuL\a.ujl)gSL;JéuaﬂliwL;}”uﬂa 10

Shall istae ) Caad  3Ladl & Ay il o A Al aDle 5 e .11

Horall Jadiy) i e calill Yiad Sla 1 aladll G jlgs alaiall il aay 12
Aadagdaddl s & jaall g mgiall bl jeaiall g ) sSall g8 2 giaall 13

Lo e 0583 Uil (g 5l (5l a3 Apalall alaZi¥1 14

(0wl adaall Calaa ! Apagdadll ALaiY A3 G (5 )5 el (e Ul |15

el ady i (M) Lt AU 00 Ca i g gl (5 sinal (ol )l pdaiill bl 16
Al s Ay ST ddaad Gy paill G Adilll e aall 8 Agaidatll Jilas M Apaal 355,17
a5 Ae panll 05 A8 yill Lpadatll alaaY) & SULED 18

A gliia iy Ailan 5 9 4 Jlga s A jae S Sa 3 a5 ool os Sl LAl e 10
Baa g da glaie Gl LY Dl grgiall jualie (o dalelis A8 A lia ad 20
&E’:'WEEJPJA1JFH|mtfjujﬂﬂluﬂﬁ:uﬂ1uhﬂ?ﬂ&4&¢@_zl
Al Gl i ge s Liilaie Laglaii LalGl) prgia aslail a3y 22

_____ vy aladiall & yidy mymu*ywuﬁmmtmuk;:m%ﬁhfg_zg
A Al e D) CODSSs Ja

' jts:-.n Jaliail) U Adeill agilalyial g el 430 53 () saally WLl pegia iy 24

ral Judidd o 38 53l ae JulS JS0 lsse LLIAN pegial Jandasill o4 25
miJJl1~_;m_P.n_}4ﬂq_ns 1dqﬁﬂid4mg1s.¢‘j_ﬂ;ﬂ ..nH...l:L.u 26

_q'u.__.___:”_,.ﬁs_;gjm 5P = o\ 3\ \_ZaaN\ C_, (w:;u 2
1



o> Sl anlaill jUal (848 peally o5 il 2alill BLEH s ans | 28

L o5 5 Adaiii1 JLia) B 590 AaaDUll () ¢S5 Y ¢ Jalill ppie Jia L3 20

Oe Ag_lEie Ao gane Gl giae O zeadll 2By ¢ gadll mrgia dal ye e (SW! Ads el 530
A alt o gall

csadaill egiall adaial dpalitll Cilagaiaill e 4 g lall AL yhalt a5 3]

Aead] s COCE 5 3 Blia e Dlaiie e Al jall Gifas 6l zgie 32

AUl Cilalas LeaplSY) o jlaall Clpuld zas  Je ilaa 5l pogia Aol o585 33

& Walnas) ST adly (5 AW Aaall zaliall (e oy e Al jall Dilos ol zegie jaahy 34
g3 Ay sV Gl

Clala b Baa gl A jaan 568 ¢ Baldl e Lailall Dl jolt Calaa gll meia 435
PS5l A3l

_L&_lj_._.,__},;-__! t.,_r.m balall MI L L._.J.n..n.:ﬁiL._ﬂﬁJ! J!_j..qﬂ l:.,&._".q Ll 5e (0 .36

Lala gl g L 93 Lald ) alaall ) 90 ()5S0 el jalt Slas ol mglia Jd (237

S o el il A s aaionall g Ao jaall (a3 S B g8 e ¢ gl pegidl Jla 4 38
_W\ﬂ:n]! t._u!Pu_l:: 'l_)L
;{;&Lﬁﬁélﬁuﬂi}ﬁjmuanMll@ﬁﬁjihuﬂigpdhgj_39
Adala 5 e e

A il e A el Bass gl A pall Al A jaall Cassal cCunall el Jla S8 40

e 9= 3oz o o A ¥ Bl O O G Laa B jle S0 dapanall Y1 sl il
(hwm)@ﬂtm}'l zisad A A, B, C & D e Whilis

;_,‘)S-?;_j{{_q-ﬁ MA 4" Méu‘ﬂlﬁahﬁ1f:_mhﬂ.hj il e ]
dmmc-ﬁ:-..l dt..a]:n.ut de ¢ila adayl yia |
,,,,,,,,,,,,, Lg.ui;jmijpijpamﬂs_u_ﬁifjﬁiaﬂi_ﬁ.hulc-.nﬂ_z

G e o i Y 3 ) jRall yaadll Z dllell AaISHl {__ﬁ.?._,l_}iﬂi_j igjﬁ’ﬂl il |
............. Apalill 4aailly (s l8Hl pmpiall b e 3

G Lo JS 5 2 hull dsa 53 Jlaal 2 4gal i peall Cailall Jleat o adaliziy 236 311 alaiat |
............... t;'v:":.‘l.ﬂ] W‘&@%ﬂ‘ﬁ‘ J‘_j.AH g g L_.gﬂ" agill Az ¢ (e 4

2 KRR IV WRETR WA A PR SV [t PRSP UEL | IR S P PR Y
ﬁjﬂiﬂl C‘ﬁ-“““ Alae | -..1::-‘5-..1‘. '-:}1..“ ‘._.11_35:.;.!1,;__:,..:. 5

423 il 30 dll Blel AT Bala ;_]S.'u do oMl ila sleall saad o JaeSAEl ol sl qu}ﬂ |
ALLEN Asagtedli il jadld) aaaal o

SRV D A e st (90 Gl 4 ity cang Sl #LE e Ejle L L6

BE delall = 2t saill |
LYY B and g Jiad) b L Asldl (5 5T

A 3 RPN dglead oo a1 |
b ol 50 a3 pallad Eus e aleiall Lumﬁ %w slig ... peai g 55 8
dadadill o daa o ull - (ENy il )
J.\J:nJiJJ’u)!:JHd.u __}:..'I_;:-ﬂﬂq.ﬂ.‘l'i U.UIJ-_A.J E.&.L-qu ________________ 1:_9.‘5'};”‘_'}&_9

b yilaell 3 dae Loyl i dadalall 4aadll |

Wh%@@iﬂ;ﬂlmffﬁi!gumg 10
JLHLALJSJ&JJ‘MIEE‘AJJC uLu]!ﬁJLLa_g#;‘_)ﬂEu P P -“‘1.33,5&;-'-"‘-“ |



Novel Exam E314

Third Grade(Basic Section) .
3/1/2016 AR
Time Allowed: 1& 1/2hr
Full Mark: 80
I- Answer only one of the following; (30 Marks)

1. Mr. Rochester is the central male character in Jane Eyre and is considered one of the
memorable romantic characters in nineteenth century English fiction. Discuss.

2. There are two kinds of society that the novel of David Copperfield seems to be concerned
with. Discuss.

[I- Answer only one short note from the following: (20 Marks)

1. Miss Betsey Trotwood

2. Uriah Heep

3. Poverty in David Copperfield novel

4. James Steerforth

I[I{- Mark the following as True or False: (5%x3=15 Marks)

1. The language of David Copperfield novel is romantic.

2. Bessic is the servant at Gateshead Hall in Jane Eyre.

3. Mr. Rochester suffers from his past sins and misdeeds.

4. Ham dies in the sea.

5. Women in the Victorian period held very strong power in society.

1V-Choose the best answer: (5%3=15 Marks)
What kind of stepfather is Mr. Murdstone?
K.nd
b. Generosus
. Sirict
d. Loving

2. Miss Betsev 1= obsessed with which of the following?
Proper chiguette

Keeping donkeys off of her grass

Money

. Saiing and the sea Turn to Page Two

Lo o
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Assiut Unwersny __FaCii-lty of Education Jan.2016
Novel& Drama Fourth Year_ Time:1.5 h.

I- Answer the followin uestlons

1- What are the main features of the 20" century novel? Mention some of
the most important novelists of the century. ~ (Obligatory)
(10points)
2- Define THREE only: |
Irony of situation - Plot - Protagomst - Theme
( Obligatory) (16 points)

II- Choose the right answer:
Animal Farm

1- What kind of regime does Animal Farm_satirize?
a- Democratic  b- communism  c- Ammahsm d totalltarlan
2- Who becomes the power hungry leader of the ammals‘? wioe

a- Boxer b- Snowball c- Napoleon d- Mr. Jones
3- What is the name of the first battle between the humans a;_;d the animals?
a- Normandy b- WWII c- Cowshed d- Little bighorn

4- Who said " It is no longer needed , comrades....'Beasts of England ' was the
Song of the rebellion, but the rebellion 1s now completed. ...clearly this
Song has no longer any purpose.” i

a- Mr. Jones b- Mollie c- Squealer d- Nap{ﬁ.:_ledn
5- Who did Nepoleon blame for the windmill disaster? e
a- Benje nin b- Boxer c- Snowball d- Squealer

6- Why did Napoleon begin executing animals?
a- He went crazy.
b- The one he executed were too old.
c- He wanted to stop any rebellion against him by keeping the animals
in fear.
d- He wanted to stop spreading of disease; the ones he executed had rabies
7- Who is the old pig that died?
a- Frederick .
b- Squealer.
c- Old Major.
d- Snowball.



c 3 oa
8- To whom does Napoleon sell the farm's pile of timber?

a- Mr. Jones b- Mr. Pilkington = ¢- Mr. Frederick  d-Snowball
9- Who is used as a" propaganda" machine by Napoleon?
a- Clover b- Mollie c- Squealer d- Mollie
10- Which Russian leader does Napoleon most resemble?
a- Trotsky b- Khrushchev  c- Stalin  d- Lenin
( 25 points )

T A T N P N W O O O N O N R S

A passage to India

1- Aziz works as a :

a- teacher b- lawyer c- doctor c- dentist
2-Why does Aziz behave rudely to Mrs. Moore when they first met at the
mosque ?

a- She interrupts his prayer.

b- He dislikes all English women.

c- He thinks she has not taken off her shoes.

d- She and Adela unintentionally take his Tonga.
3- In the opening dialogue of the novel, who is most open to the possibility of

Indian — English friendship ? :

a- Hamidullah b- Aziz c- Mahmoud Ali d- Fielding
4- What makes Fielding suspicious during the trip to the Caves?

a- Adela's hasty departure.

b- Aziz's overexcited demeanor.

c- Mrs. Moore's apathy.

d- The absence of Adela's servant.
5- What is considered a potential solution to the incredibly complex political

issues?
a- Race b- Power c- justice d- religion
6- Which takes place during the rainy season?
a- Mosque b- Temple c- Cave d- All
7- Why wasn't Fielding going to the Marabar Caves with Aziz, Adela, and
Mrs. Moore?

a- He was sick.
b- He missed the train.
c- He didn't like the idea.
d- He was afraid of the Caves.
8- According to E. M. Forster, the ideal man in _A Passage to India is
a- Aziz b- Hamidullah c- Fielding d- Ronny




o« Bin

9- India was a colony of which country?
a- Pakistan b- France c- Japan d- Britain
10- What is the main reason Aziz decides not to attend the Bridge Party?
a- He feels sick to his stomach.
b- He wants to spend time with his children.
c- It coincides with the anniversary of his wife's death.
d- He 1s angry with Major Callendar.
(25 points )

Good Luck ,
Dr. Eman Amin Mahmoud
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Assiut University Faculty of Education January,2016
Faculty of Arts Fourth Year/LEnglish Section Time: 1.5 hours
Department of English Linguistic Exercises Exam/Basic Education Total: 70 marks

—

I- Indicate if the following sentences are correct (¢ ) ,or incorrect (1)
( correct the mistakes): ( 5x4=20 marks)

1- Last week went fishing for trout at the nearby mountain lake.

2- The new computer program has provided a variety of helpful applications.

3- The ports were reached by the sailors were under the control of a foreign nation.
4- The chapters taught by the professor this morning will be on next week's exam.
S- All tenants invited to the Independence Day barbeque yesterday.

I1- Choose the correct answer (only one answer is correct): ( 5x3=15 marks)

1- Emma Thompson was nominated for an Academy Award as both a screenwriter.......
an actress in 1996.
a. also b. or ¢. in addition d. and

2- The Asiatic wild ass; otherwise known as the "Onager" , is famed for knowing........ fast.
a.running b.torun e how to run d. how to have run

3- Lafon's reagent, a solution of ammonium or Sodium Selenite .finds use as a test

CELEUE R CDdEinE&

a. detection  b. to detect ¢, to have detected d. to detectable

4- In the early 1900s , Eastman ........... inexpensive Brownie box Cameras.

a. it developed b. it was developed  ¢. developed d. developing
5- Genes control all the physical ............ we inherit.

a. that traits b. that are traits c. traits that d. traits are that

I1I- Choose the correct words: (5x3=15 marks)

1) This add is........... . The use of colors and imagery is amazing.

a. ineffective b. dumb ¢. striking d. ridiculous

2) My brother does............ at a shelter for the homeless. He serves meals there on the

weekends,
a. rescue work b. reporting ¢. volunteer work  d. people stories

Go to next page



3) A............ has a job that requires a creative mind.
a. soldier b. bank teller ¢. pilot d. writer

4) We don't have to keep disagreeing. I think that we can........... that will satisfy us both.
a. apply new skills b, find a compromise . ¢. do well  d. use our hands

5) If you go to Costa Rica, you can see monkeys, parrots, and, other ....y:eyeslies :
a. snakes b. wildlife ¢. locals d. parks

[V- Correct the underlined mistakes in the following sentences: (5x4=20 marks)

1- Eating huge meals, snacking between meals, and too little exercise can lead 1o obesity.

2- The group wanted to meet in January, but this didn't happen until May.
3- Explaining the rationale for treatment can help distill patients' fears.
4- Once one have decided to take the course, you must keep certain policies in mind.

5. Recent discoveries about the weather reveals that several cycles are involved.

. Best Wishes

Examiners - Dr. Hanan M.Mahmoud
Dr. Faten Helmy



Assiut University Methods of TEFL Exam, Jan. 2016
Faculty of Education #hYear Primary, English Section

Curriculum& Instruction Dep. Time: Two Hours

Answer the following questions:
1-(a)What are the different learning styles of young children?
(b)Mention the challenges of teaching large classes in primary schools

in Egypt. 15 marks

2-(a)What are the basic principles of classroom assessment?
(b)What are the strategies that children use in learning a foreign
language?
15 marks
3-(a)Mention the advantages of using games in the primary English
Classroom?
(b)What points should a teacher take into account when students
begin writing?
15 marks
4-(a)What are the linguistic benefits of using songs?
(b)Mcntion the definitions of the eight multiple intelligences?
15 marks
5-(a)What are the benefits of Shared Reading?

(b)What are the purposes of teacher observations?

15 marks

Good Luck
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I, Read th s nd answer th tions: (10x2= 20 Marks)

Horse owners who plan to breed one or more mares should have a working
knowledge of heredity and know how to care for breeding animals and foals. The
number of mares bred that actually conceive varies from about 40 to 85 percent,
with the average running less than 50 percent. Some mares that do conceive fail to
produce living foals. This means that, on average, two mares are kept a whole year
to produce one foal, and even then, some foals are disappointments from the
standpoint of quality. By careful selection, breeders throughout history have
developed various kinds of horses with a wide variety of characteristics to suit
many different needs. The Great Horse of the Middle Ages, for example, was bred
for size and strength to carry a heavily armored knight. The massive horses of
such breeds are often called "cold blooded."”

The Arabs bred lithe desert horses that were small and swift. These
animals are often referred to as "hot blooded." Cross-breeding of hot-blooded and
cold-blooded horses for certain characteristics produced breeds ranging from riding
horses to draft horses. Thoroughbred is considered by many to be the highpoint of
elegance and fine selective breeding. Many persons mistakenly apply the name
Thoroughbred to any purebred horse. But a Thoroughbred is a distinct breed of
running horses that traces its ancestry through the male line directly back to three
Eastern stallions: the Byerly Turk, the Darley Arabian, and the Godolphin Barb. For
convenience the breeds of horses are often divided into three major groups: (1)
ponies, (2) heavy, or draft horses, and (3) light horses.

1. Which of the following is NOT an example of an Eastern stallion?
a. Byerly Turk b. Darley Arabian :
c. Thoroughbred d. Godolphin Barb.

2. Which of the following was NOT a characteristic of the Great Horse
of the Middle Ages?
a. Large size b. Swiftness c. Strength d. Cold-bloodedness

3. It can be inferred from the passage that cold-blooded and hot-
blooded horses were cross-bred for what reason?
a. Such cross-breeding was a safer means of reproduction.
b. Cross-bred horses were preferred by Arabs.
c. By cross-breeding, horses with desirable mixed characteristics could be

produced.
d. Cross-breeding produced Thoroughbred horses.

4. The underlined word "lithe"” most nearly means
a. graceful b. clumsy C. massive d. bulky

1 See Next Page
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5. Which of the following is NOT one of the major divisions of horse
breeds?
a. Draft horses b, Ponies c. Foals d. Light horses
6. According to the passage, which of the following horses is

considered to be the finest purebred?
a. Darley Arabian b. Thoroughbred ¢. Godolphin Barb d. Byerly Turk

7. To conceiveisto ...

a. become pregnant b. become sick c. die d. be born
8. Afoalisa...
a. male horse b. female horse  c. old horse d. baby horse

9. The average amount of mares bred which actually conceive is less
than what percent?

a. 40 b. 85 c. 50 R | L
10. A mareisa... g
a. male horse b. female horse c. old horse d. baby horse
I, Read the passage and answer the guestions: (20 Marks)

Stars have been significant features in the design of many United
States coins and their number has varied from one to forty-eight stars.
Most of the coins issued from about 1799 to the early years of the
twentieth century bore thirteen stars representing the thirteen original
colonies. Curiously enough, the first American silver coins, issued in,
1794, had fifteen stars because by that time Vermont and Kentucky had
joined the Union. At that time it was apparently the intention of mint
officials to add a star for each new state, Following the admission of
Tennessee in 1796, for example, some varieties of half dimes, dimes, and
half-dollars were produced with sixteen stars.

As more states were admitted to the Union, however, it quickly
became apparent that this scheme would not prove practical and the coins
from 1798 on were issued with only thirteen stars-one for each of the -
original colonies. Due to an error at the mint, one variety of the 1828 half
cent was issued with only twelve stars. There is also a variety of the large
cent with only 12 stars, but this is the result of a die break and is not a

true error.

1. What is the main topic of the passage?

(A) The teaching of astronomy in state universities
(B) Stars on American coins

(C) Colonial stamps and coins

(D) The star as national symbol of the United States

2. The word "their" in line 2 refers to

(A) stars (B) features (C) coins (D) colonies
3. The word "bore" in line 4 is closest in meaning to which of the following?
(A) Carried (B) Drilled (C) Cost (D) Symbolized
See Next Page
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4. The expression “"Curiously enough” is used in line 5 because the author finds it
strange that , . .

(A) silver cains with fifteen stars appeared before coins with thirteen.

(B) Vermont and Kentucky joined the Unian in 1794,

(C) no silver coins were issue until 1794.

(D) Tennessee was the first state to use half dimes.

5. Which of the following can be inferred about the order in which Kentucky,
Tennessee, and Vermont joined the Union?

" (A) Vermont and Kentucky joined at the same time.

(B) Kentucky joined before Tennessee and Vermont.

(C) Tennessee joined after Vermont and Kentucky.

(D) Vermont joined after Tennessee and Kentucky.

6. Which of the following is NOT mentioned as the denomination of an American
coin?

(A) Half cent (B) Half nickel (C) Half dime (D) Half- dollar
7. Why was a coin produced in 1828 with only twelve stars?

(A) There were twelve states at the time. (B) There was a change in design
policy.

(C) Tennessee had left the Union. (D) The mint made a mistake.

IlI. Read the passage and answer the questions: (5x3= 15 Marks)

Botany, the study of plants, occupies a peculiar position in the
history of human knowledge. For many thousands of years it was the
one field of awareness about which humans had anything more than the
vaguest of insights. It is impossible to know today just what our Stone
Age ancestors knew about plants, but from what we can observe of pre-
industrial societies that still exist, a detailed learning of plants and their
properties must be extremely ancient. This is logical. Plants are the
basis of the food pyramid for all living things, even for other plants. They
have élways been enormously important to the welfare of peoples, not
only for food, but also for clothing, weapons, tools, dyes: medicines,
shelter, and a great many other purposes. Tribes living today in the
jungles of the Amazon recognize literally hundreds of plants and know
many properties of each. To them botany, as.such, has no name and is
probably not even recognized as a special branch of "Knowledge at all.

Unfortunately, the more industrialized we become the farther
away we move from direct contact with plants, and the less distinct our
knowledge of botany grows. Yet everyone comes unconsciously on an
amazing amount of botanical knowledge, and few people will fail to
recognize a rose, an apple, or an orchid. When our Neolithic
ancestors, living in the Middle East about 10,000 years ago, discovered
that certain grasses could be harvested and their seeds planted for richer

3 See Next Page



Paged of 4

yields the next season, the first great step in a new association of plants
and humans was taken. Grains were discovered and from them flowed
the marvel of agriculture: cultivated crops. From then on, humans would
increasingly take thelr living from the controlled production of a few
plants, rather than getting a little here and a little there from many
varieties that grew wild -~ and the accumulated knowledge' of tens of
thousands of years of experience and intimacy with plants in the wild
would begin to fade away.

1. Which of the following assumptions about early humans is expressed in the

passage?

(A) They probably had extensive knowledge of plants.
(B) They thought there was no need to cultivate crops.
(C) They did not enjoy the study of botany.
(D) They placed great importance on the ownership of property.

f

2. What does the comment "This is logical' mean?
(A) There is no clear way to determine the extent of our ancestor’s knowledge

of plants.
(B) It is not surprising that early humans had a detailed knowledge of plants.
(C) It is reasonable to assume that our ancestors behaved very much like
people in preindustrial societies.
(D) Human knowledge of plants is well organized and very detailed.

3. According to the passage, why has general knowledge of botany begun to fade?
(A) People no longer value plants as a useful resource.
(B) Botany is not recognized as a special branch of science.
(C) Research is unable to keep up with the increasing numbers of plants.
(D) Direct contact with a variety of plants has decreased.

4. What is the author’s purpose in mentioning "a rose, an apple, or an orchid”?
(A) To make the passage more poetic.
(B) To cite examples of plants that are attractive.
(C) To give botanical examples that all readers will recognize.
(D) To illustrate the diversity of botanical life.

5. According to the passage, what was the first great step toward the practice of
agriculture?
(A) The invention of agricultural implements and machinery.
(B) The development of a system of names for plants.
(C) The discovery of grasses that could be harvested and replanted.
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Main Examiner : Dr. Wafaa A.A. Morsy
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Assiut University Faculty of Education January,2016
Faculty of Arts Fourth Year/English Section Time: 1.5 hours
Department of English Conversation Exam/Basic Education Total: 55 marks

I-To improve your conversation with others, you have to keep some points in mind. Mention
FIVE ways to have a good conversation: (5X3=15 marks)

1I- Choose the correct answer: (5x2=10 marks)

1- " In other words" is a phrase used to introduce............

a. commenting b. paraphrasing ¢. objecting

2- "What do you think about?" is a question used in the conversation to..........
a. comment on ideas  b. refuse ideas ¢. bring new ideas

3- To restate someone else's ideas in your own words, you Can say..eseesess
a. What is the real issue? b. Let me see if | understand you correctly..........
¢. What about......... 7

4- To analyze problems, you may Say....c.ses
a. In other words .......... b. I think the major problem is...........
c. I get it

5- "1 suggest that ............ " this phrase is used tO.vereesiasen
a. comment b. make recommendations ¢. ask for input

I11- Choose the correct words to complete the conversation: ( 5x3=15 marks)

a. creative b, funny c. headline d.rescued e.shark f. unbelievable

Rick: Did you see this.......  [— about the man who was attacked by a.......2.......7

Jessica: No, That's..ceeesdernnenee . What are the details of the story”

Rick: The man was diving in Australia when he was attacked. The animal hit his leg
twice before he managed to escape.

Jessica: This is not ..,.....4....... at all. Was he really hurt?

Rick: yes, but nearby divers called for help immediately, and he was........5........ and
taken to a hospital.

IV- Write a conversation, using the information below: ( 15 marks)
Place: A clothes shop in your town
Characters: You and a sales assistant
Situation: You need to find an outfit for a friend's engagement party.

Do Your Best

Board of Examiners: Dr. Hanan M.Mahmoud
Dr. Faten Helmy



Faculty of Arts January 2016 4, A8
Dept. of English Time: 3 hours Rttt

Phonology and Reading (4) Exam for Fourth Year Students,
Basic Education, English Section, Faculty of Education

@ Assiut University 1*' Semester -- Final Exam :'&-.;‘.

PART I: PHONOLOGY  [Total: 45 marks]

Answer the following questions:

I. Write short notes on only Three of the following: [3 x 5 =15 marks]

l. Minimal pairs

2. Phonemes and allophones

3. Phonemic and phonetic transcription
4. Phonotactic constraints

5. Functions of intonation

II. Indicate what the extra stress given to the CAPITALIZED word in each of the
following sentences implies: [S % 3 =15 marks]

l. JACK will cycle to the restaurant tonight.

2. Jack WILL cycle to the restaurant tonight.

3. Jack will CYCLE to the restaurant tonight.

4. Jack will cycle TO the RESTAURANT tonight.
5. Jack will cycle to the restaurant TONIGHT.

HI. Transcribe the following words phonemically marking the stress, and decide how

many syllables each word has: [S * 3 =15 marks]
l. English 4. entertainment
2. courage 3. courageous

3. conversation

GOOD LUCK!
Dr. Ashraf Girgis Abdel-Malak



